F6oEmNAINEELFREEEFERE & FIMMT U Y—h—EFIEnER L _ .
;g_%;zosﬁ;g@@ s biniais RRE (BF-RE)
B 5| AL B L EZ e T & EZ = T & K% FE ok SRR E% FE ]
10716 MFFEF 1 es0 | 1 [E RO NeRE| 1077 2 [Nl Resmn) BWERL  1172| 3 | H30O WAVEEM  1173| 4 |NE RAQ) | #EFRU—F 117
5 (BEA&EANER(2) T R —k 1272
10/16 gom| 1 |OT| 1 | EFE) BHERH57 1379| 2 | FREREEA) T R —k 14”5 3 |88 ZEE®) T A1) —+ 1475| 4 |RIF #88(3) FIETGRE L 1676
2 (-02| 1 [#IE ZMHEEO) T R —k 1371| 2 |RERE EEK@) T R —k 1379| 3 |KE&Z2=®3) BFERY77° 1471 4 |FN@A Eth(4) T R)—b 1474
5 |BE AE@ NnNyht 1474| 6 |hEF E£(Q) T R —k 1478
10/16 100m| 1]708] 1 |FE B306) FIETEE L 1476 2 |/MII FK(5) WAVE'E il 1570 3 (ALt #EIHG5) ElEFEEL 1572| 4 |ATE XZ(5) WAVE = % 1574
5 [{BE /() T R —k 1576 6 |{Fihxn{inA(5) T R —k 1773
10/16 1000m| 1 |E8 —R6) FIETERE L 32173 2 |RB &) BHERH77°| 34079| 3 [EE 1KE(6) EIETEEL 34471| 4 |$BE FRE(5) W7 R —k 3'54"2
5 |FRK {Z/E®6) T R)—+ 35475 6 |SH FE®G) T R)—b 3'5476| 7 |KRIIFERNG5) BAERY57°|  3'5476| 8 |FAE HEth(e) BHERH57°| 40177
. £ B ” _ S . I\ o _ A yy
10/16 1 1 |BBEEL 3 %E(G) 5976| 2 |ERIET AU—FA f* {_E(G) 1'04”8| 3 |WAVEE & #iH 5'5?(5) 10674 4 |&RH T R)—kC hE  EA(3) 11072
4x100mR H F%(6) BE RERG5) =4 {EEo) F0E E24h(4)
EE 6]
5 [mmrzy—te | FRAMBS) 1417
e 58 hi50)
10/16|FFPF L1 20| 1 |k EQ) wER| 1272] 2 |BE B WED|  12°3] 3 LB REQ) SR 1273] 4 [HAEZAQ) wEh| 1273
5 |fEH FREE(2) A+ 1277| 6 [/htk —E(1) = 1278 7 [F)N EE(2) -+ 1371| 8 [BBHE FE®) =ik 13”1
10/16 200m| 1 [ 00| 1 |BEith HE(Q2) EFnithep 2774 2 |R% KEQ) =R 2970| 3 (A 52 &S 2979 4 (A E(1) Atk 3376
2 |-02| 1 |f#EX 8:K©2 oETP 2673 2 [k —E(1) =& 2674| 3 |fER FRE2) A+t 2674| 4 |f2E FEBA(1) =& 26”8
5 | BE(2) A+ 2774| 6 |BH FEO) =& 2775 7 |BIAFEEQ) =& 27"
10/16 800m| 1 1|EN FEQ) Bt 22571 2 |¥IE  #EQ2) iy 22777| 3 |2KRK —#(2) I 22877 4 | K&E EH#(©2) EFithh 231”5
5 |FIL FKRQ2) R eh 2'32"1| 6 [IRT 1KZ(2) B 2'3278| 7 |{ERE BESR(1) EFith e 2'33"1| 8 |%RE BEQ EFith e 23776
9 |He 1&5(2) chiffch 2'4277\ 10 |#iEE Bisk(1) Efith e 2'4370| 11 |#Er BAE() WAVE B 5§ 2’5672 12 |AME FXR(1) A0t 31173
10/16 3000m| 1 1 [/hh% H3) HEH 9'3370| 2 [/\K #EK(Q2) HEDH| 105272| 3 [ EiEA®R) HEH| 105976| 4 [ILT KE(2) HEH| 110472
5 |BE BUL(2) 4| 110779 6 [(IE Ft(2) MEH| 110870| 7 | MREEQ) H+ddh| 111478 8 | =G HMEF| 112771
9 [F# #kIEQ) MEHE| 115072 10 [JI14A HEIEQ) HEH| 115172
Ly B p i FE v
SEEITE " N " — R B " Py .
10/16 1 1 |E+B Bl EE=(]) 5176 2 |#EHC B Br) 5674| 3 |=#&x+B FE EAD 5675 4 |thiEidB Hrh 155) 59”6
4x100mR =58 AEJ1) fhiA BEE() w48 R A %(1)
PRI FEEQ) He =02 BAEZ Q) wE = J(1)
2| |1 |=meea BE w40 2 [P Bl )| 59 o A EX )| 58| 4w = Fimacy 10
e wig &2 ~ S K&EQ) B4 IRF I&EQ)
10/16|PR—AT 1 |06 1 |FE BE wavems| 100 2 B B8O MEEE 1171 3 |BBH—E0) MEESE 1175 4 |12 HAQ) MEES 178
5 (&g &0 MHAED 12°1| 6 |A+ 2 MATES 1273| 7 [IRFT —&Q) MAFES 127
10/16 400m| ! 1 |&E B&eo) MHEE 5072 2 |lus 1% R SRER 1'04”6

1/6



SEoomBNIMPE LR FIERE R FIET Y —h—RFENEH

A e EREET-AM)

10/16 E&_&L%ﬁom 1 1 |NE &k RS n4:52"1 § = o= i = = S = - e

10/16”\#%% 5000m| ! 1 |FTEES #MBEHRK| 174572 2 |APEKER #H BB 180076 3 |FIER 5 S| 190572

:Z;:s e 8 1 1 |t ’fﬁﬁ(s) maERL T 2 lmm Eme | #mmTRU—+ SOl s [HE #Ee) gm0 4 me T mw@EpL| O]

6 ek 1 (iR RO Wk 1m2s| 2 |[KE EAQ H+s|  1m25| 3 (WA AH) -+ 1m20[ 3 [IIT QD) WEd|  1m20

10/16 igan| | 1A B eeitbilc] R PR TTT- P =me| M2 gk B e ibil] IR PR S = B 16) w420
5 a0 &) maml M8 nsARERQ waes M7 FE EAD) =me| ™ B RAO ik 2
9 |BA EAOD Bt OTE 10 B AREZ() wAte|  SmOLl 11 gL FEQ) e R e = 523

10/16] g 455 .0kg)| ! 1[I FZEQ) HEH 8m47| 2 [HF L B2 Fotiibiles 8m26| 3 [BE (2 At 7m6‘6 4 |HE FKQ bbbl 6;1[;(1)
5 |5 K&®Q) Hgheh 6m72| 6 |73k EHEQ) wEP 6m35| 7 | ZRIH() SRt 5m98| 8 = HHE) it ep 5m15
9 |FR&HBHO) HEP 4m27

10/16 %&_’@%% 1 1 &I ) ;EEE  1mso

018 g | 1| ) e BT

10/16FBEF_ o] 1K BAQ mmmEs O

2/6



SEoomBNIMPE LR FIERE R FIET Y —h—RFENEH

T8 8 AR | 81408 _ _ AR (BT TE) _ _ _ _
HB = A [ EZ FE i o EZ TE i T EZ FE ik KA EZ HE T
1016/ MFBF 1 [s0s| 1 [HE HEG) mEBERELE| 1571 2 [fTE EBG) WAVEEE|  1574| 3 BB HREG) BETRU—N 1579 4 [S3  #E) HHTRU—k| 1676
5 |fRHu%n{n A (5) 7 X1 —h 1771 6 ¥ Ei&(6) NYHE 18”5 7 |&A BIR(G) WAVE & il 18”
2 |-00| 1 |iBE =EH6) 7 R —h 1476| 2 |TB E305) = il i o 1476] 3 /NIl FIK(5) WAVE E I 1570| 4 [FAK 1ZR(6) T R —b 1773
5 | TR HEG) WAVEE I 1776| 6 |[FFH EEk(©5) g7 21—+ 1874 7 |#H HE#(5) g7 X1 —k 18”
10/16|FFHT 1 |08 |1 |Eig mEE) | 1274] 2 |@A BER) H+h| 1277|348 EEBACD) =i 1973 4 [BE B wAEH| 1379
5 MR (1) MEH 1476| 6 |RE B=Q1) MEH 1574 7 | K& #HED) R4 ch 15"
2 |-08| 1 |BE FEO) =B 1370| 2 [Nl EE(2) A+ 1371] 3 |HE FHEWM HNEH 1371| 4 [ EEQ) mEF 13”1
5 |f0E #E) 7 X1 —h 1374| 6 |FH &A1) =B 1474) 7 | FRFE\EQ) MEH 1578| 8 |#RA MHE(1) ch4ifeh 1670
3|-05| 1 [ EH2) wEH 1272| 2 (BRIAFHELEQ) = 1375( 3 |HJII E&F®) MEH 1377| 4 |RE%E REW) =R 1472
5|80 &®1) MEH 1476 6 |FEEEREN) s 1571 7 HELXR #O0) MEH 16”
4 | =111 [IUEg REQ2) =B 1275| 2 (A EIREQ) MEH 1372| 3 |&@E BEEQ) I 1473| 4 |HE Z=FHQ) EFt e 1478
5 [ILTF HHEQ1) nEH 1476| 6 |#aE #HEN) wnEH 1477| 7 |l KEK() wnEH 16"
5|-06| 1 [HWFEZMN2) wEH 1275| 2 [Nk —E(1) = 1370| 3 (M@ IR Efthe 1372 4 |BR K& wnEH 1473
5 |[HF FiFHQ2) HR 4R R 1478| 6 |ZR #iX() MEH 1671 7 |& #FIBH(1) B3 R 18”
6 |-0.1| 1 M F¥A2) FyRAR 1372| 2 &R EBL() MEH 1472 3 |&HA FK(1) E+hd 1477| 4 |25 HE0) =R 1573
5 |FKRAAR) St ep 1671

3/6



SEoommBNIMPELFBRIRRFIERE K FI3@T7Y—h—

H,ﬁiEl 2021¢10JEJ16E|

EFEnE

LR (F-RED)

i 15 EIE B N B E B RIS } . } d ] ] _ _
HB = HIE 16 EZ FE i o EZ TE i T EZ FE ik KA EZ HE T
116 MFEF - | 1 [mm mae) | smrRu—b 1071 2 [EREAYQ | SETRU—N 17| 3 |EL DEO) BEERELE 1170 4 [HBE HAQ | #METRU—K 125
5 |RERE E#k(2) 7 R —h 1372| 6 |BHIHT () =T L 1379
2 | =171 |FIM BA®@ 7 R —h 1078| 2 |[RE 1&E(2) WAVE Z 1% 171 3 |TE EfEQ@) EEFERE L 1175 4 [JIR BEQ2) T R —b 1178
5 |FhF fHRE(2) Nnyhnt 177 6 |=i TEFE(2) g7 21—+ 1179
10/16 gom| 1 [71O| 1 [T ERE®) il o 1376| 2 |BMEEXM) #];WT R —h 1477 3 |5 BEQ) #]WT7 R)—h 1478 4 |F & 18EQ) =i 1570
5 [ #EF®Q) 7 X1 —h 1571 6 [FRRBAHEXRQ) | #H;HTRI—F 1676
2 |-05| 1 [/MEg #EG@ WAVE Z I 1373| 2 |JTH #%RTEQ) NnYht 1475| 3 |h#t ERE@4) Nnyht 1477| 4 | TH BI#HEQ) BERY77 1479
5 |1 BE EXRQ) NnNYht 1571 6 |JIA  FE@4) #HT R)—h 1572
3|-10| 1 [lLE E®M) nNynt xg;g 2 |ATEBEZEE(4) WAVEE i 1374 3 | EEMEFG) 7 X1 —h 1376| 4 (B# #E4) HRIE - FE /N 1473
5 |[{EEA/BRFO) EIETERE L 1474
10/16 100m| 1 |¥O1] 1 &2 A6 7 R —h 1473| 2 |[RE BE®6) WAVE Z 1% 1576 3 |&  JKHZ(5) WAVE E I 1576 4 |I|RT KH®B) T R —b 1578
5 |FIEEEAE) 7 R —h 1670 6 [#I| #53(6) EIEFERE L 1672
10/16 800m| 1 1 |AH —7EG5) EETEEL|  24273] 2 |[BEA BX6) =IAFERELE|  24878| 3 [BA EMG6) EEFERELE|  2'5176| 4 [F0MA tAAN6) T RA)—L| 25276
5 |l 1DE&F®G) EHFEEL| 25675 6 [tBA MED) EETEREL| 25872 7 | LZEEFI6) BHERY57|  30178| 8 [IRA ER(G) BHERY77°| 30579
9 |HM SE®) BAERY577|  30674| 10 [IRA FEEHG6) WAVEE |  30975| 11 [{£# #tF0c6) SlETEREL| 3187412 [RE ZERFG5) BT R)—F| 33575
A KEG) =W AITE(5) BMEREA)
10/16 1 | |msi7R—te | BE fr’f*'%% 10776| 2 &4 7 RY—kD féﬂmgig 109°o| 3 [T RU—te | NFLEEB g5
N RO LR 0 LR 0 ETETD
2 1T Ry—ra | BEBZO og7a) o | mimEERE LA g EEOL o) s [mmrzu—te | BE2EAON 10p79) 4 (wavemis REETO 1057
%E?; %Miﬂ%wg Xr(5) [RH EEE)
5 |EISTEkE LB f!%qﬁ“ E%Egg 10575| 6 |BHERH57° Jgﬁ%.g;gggg 109”6
FE 2% T4 BKFEQ)
10/16| FFET L1 |25 | 1 [ FRO) A+ 1472 2 |KIF HEQ) || 1474 3 [BH DB SRep|  1475| 4 MR BIEQ) W 1476
5 |fEE E1) BRI 1479| 6 |Feo BB bk 1571| 7 | RILEE5(1) #HT R —h 1571| 8 |E&E {EHE(1) B P 1573
10/16 s0om| 1 |+1:2| 1 [BIEL<BH2) Et+me 3178| 2 |f\BHE (1) Hh 4R ep 3273| 3 (ALK BE®) ERth e 3275| 4 |AfREEFI(N) E+md 3370
5 |lIT FHE) ZEF 3370 6 |BEREBQ) ki ol 3479
2|03 | 1 [/ {E7E2) 3R 3071 2 (AR #H1EQ) BRI R 3072| 3 |tk#E EAQ) o il 3171 4 |I|A DEW) =R 3176
5 |0 E31) =Rk 3179 6 |fHHE IBE() =Rgch 33”1
3| +0.1 | 1 [FRE EMG) E+dish 2977 2 |'=EHE EIH;M) = 3176| 3 R /NEQ) =e 3178| 4 &AL DHE2) HE+ich 3178
5 |IlUTF &£ =B+ 3277
10/16 800m| 1 1 |E#E #HEO0) Hith|  2'5079| 2 |FHNFAEQ) | 2'5173| 3 |{AA HEEQ) WER|  2'5176] 4 | A{REEFI() E+midh| 25278
5 % #wEQ M| 25677 6 |EA DMEQ) Ftwid| 25778 7 |=#m #HZ(1) Rt 31174) 8 |JIME FEAQ) | 31177

4/6



SEoomBNIMPE LR FIERE R FIET Y —h—RFENEH

ﬂEl: 2021¢1QH16EI

BERR (HF-R

S B R\ 5 ] _ _ RIB) _ _ _ _
BB E A EZ TE ok R EZ e TE & EZ e TE & EZ TE et
10/16| PFEEF soom| 1 9 |Ihik BEZ(1) BEh| 32076
10/16 1500m| ! 1 W #E) HEH 54974| 2 | FIEQ) nE 549”5 3 | ©i5(2) HEH 6’1074
RO (0 & _W\EQ A BR() ER 2
10/16 1 1 |=pgeB ﬁJL.”; ?‘@EB 5970 2 |sEehB %%E*fﬁggg 5972 3 | B gf@g ggggg 10172| 4 |=ghe %*EUI§%E}§ 10174
4x100mR A DER) AE BEO =k BF() it FEWD
i
_ = o
5 |SHerD NEERE( 102
RE i)
HO f1EQ) HNI REQ) i 0E&EQ) T _£E2)
_ NS ) KB EL1) ik A0 #iE a0
10/16 T | 1| IRT REG) | #ETRU—K T |Fm RH6) BaERE MOl
10/16 ****{Egﬂ 1 1 |5 e hmer|  1m3o| 2 |sKE BEE) M= 1m2s| 3 [l =EG) =@h|  imi0| 4 |EE HED) =Bt 1ml0
10/16 — 1 [PA D) Shen| 22 g lmA BB =gen| TN 3 T DEQ | OO0 4 |3ER ERQ) ki A
5 |#IE<H(2) | OTO% 6 |am BEO) wae|  SmOll 7 ImEuLr) =g % 8 T tEQ | 3T
9 Bl SR mas| 27980 lum wems) =gep| 20k EmR() wEs| 2T
10/16 Bh B2 721ke)| ! 1|4 #FHA) it ipiihes) 7m08| 2 |fEh EHA(1) A+ 5m57| 3 |ZIR #7(1) =& 5m52| 4 |INEFEREF(1) =ik 5m04

5/6



SEoomBNIMPE LR FIERE R FIET Y —h—RFENEH

ﬂEl: 2021¢1QH16EI

RRE (KT T

i 15 EIE B N B E B RIS
HH | #H1 B |61 K# & T8 [ K& & R e T o R K& = el
10/16| MFEF L f-os |1 [m ke WAVEEES|  1578| 2 |REBATIEG) | EMETRU—N|  1672| 3 |F)I BiEE) WAVEEE|  1674| 4 |HWOIEAG6) | EHETRU—K| 1679
5 |sh#t $R%R6) 7 X1 —h 1771 6 |BH EE(5) T R —b 1773 7 | =i 4I7E(5) #HT R —h 1774
2 |-07| 1 [iBQ ¥HA6) T R —k 1474| 2 |¥0E MA.H0C6) MW7 R)—+ 1571 3 [IRF &%) T R —h 1670 4 | #5%(6) ETERE E 16”1
5 |FRF BREE(S) BT R —k 1678| 6 |LUA ZEE(6) WAVE = I 1771 7 |&xT EEG) T R —h 1775
3|+00| 1 [[RE EBE®6) WAVE'E I 1578 2 |NEA FE@5) T R)—h 1670| 3 |FNEAEEA®G) #]IRT X1 — 1671| 4 AR FE@6) T X — 1675
5 | k) 7 X1 —h 1677| 6 |AREERKEG) T R —b 1877| 7 MEEEHFG) =T 190
10/16|FFXT 1 |08 |1 [kt 2O wEH| 1473] 2 [ BIEQ) W] 1476 3 [ KILBERO) | METRU—N 1479 4 [EX BBO) SR 1479
5 [{EB XA A+ 1479| 6 (LTt FHEQ) =B 1576
2 |-18| 1 R /IEQ2) =B 1570| 2 |fBsk EFI(1) MEH 1574 3 |EHEVET=(1) =i 1577| 4 (8@ EBTE) =Rk 1578
5 |#FWLETE) et inpiules 1578| 6 (EFil 1LE(2) Er it 1579 7 |AJI F]ARE2) MEH 1579
3|-09|1 |EEH EMWQ) =B 1571 2 [IWF &) = 1574 3 |ABAFFI() I 1575 4 |#XE MEI() =R 1575
5 |kt FF) s iien 1575 6 |AB BEE(1) AP 1670| 7 |RE LI =& 1670( 8 |fA RBA) E+Thd 1676
4 1-00| 1 [FE BB Et+me 1472| 2 |KiZHEL) MEH 1570 3 |®A E#H(2) h4fch 1572| 4 |&fE #&BE0) B3 R 1573
5 |ZR A =B 1575| 6 |THE (1) = 1579 7 | EIE() =i 1674
5 |+0.1 | 1 |faE@ RBEW) SR 3 1475| 2 |EE 1EHE(1) YR P 1478] 3 |l &FEQ) =e 1479 4 |#lRA &) =R 1570
5 |BF BER(1) HEF 1576 6 [/NEFFARTF(1) =B 1671 7 |BERERQ E+hep 1671
6 | +1.7 | 1 ¥t DBR(1) =B 1473| 2 (R BHLDQ) bk 1478| 3 |]RA ME() =i 1571

6/6



